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1) B(r,t) =V x A(r,t)
CiEL L, V-B(r,t) =01 XHIHMIGH I NS, (HFEEPD
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WV -B(r,t) =076 B(r,t) =V x A(r,t) 2FT 5. HlAIT,
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o

) x
+Z [/ Bm(:zjg,y’,z,t)dy’—/ B,(z',y, z, t)dz’

Yo 0

CELIENTESL. (RIF2HTRMOBELNNT MV, g bIESR. )



0B(r,t)

(3) Vx E(r.t =

zHW5 &,

(4) V X (E(r,t)+aAér’t)> =0
; .

(1. 1. ‘ . %
74 (1. 1. 28), (1. 1. 29) ICBAT %am L FkRIC L C,

) > 0A(r,t)
(’I",t) + ot — —ng('r,t)
- _
CETDL, p(r ) E AN T—RT Uy )V THAITV,

FE0bE,

0A(r,t)
ot

(6) E(r.t) = —Vo¢(r,t)—
(7) B(r,t) = V x A(r,t).
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(8) E(r) = —Vo(r),
(9) B(r) = VxA(r).

V-D(r)=p(r) £,

p(r)
(11) AN=V-V = 727 >~ (Laplacian)
B AN NI,
Ag(r) - _2T)
(12) o(r) = .

—7, VxH(r)=1(r) &V,
(13) V xV x A(r) = pot(r).



(14) VxVxA=V(V-A)-AA
HWT, (&BE THEND L)

(15) V(V-A(r)) — AA(r) = pot(r).
ZCTCRD LD A (T — VA 2 E 2 5.
(16) A(r) — A'(r) = A(r) + Vu(r)
(u(r) 1T FTRE 7 TBD AN T —F. ) 2o & X,
17) B(r)— B'(r) = Vx A'(r)
= VxA(r)+V x Vu(r) = B(r).

Tbb, BeL5ATH AF—EMXEREST, LoZEHoH
R 5.

%, R (15) 0 1 > D% Ay(r) T 5.




(18) Ax(r)+V-Ay(r)=0
THLH L% x(r) ZHNT, N (16) DEEHZAT8D.

(19) Ag(r) — A.(r) = Ao(r) + V(7).
v5&,

(20) V-A. =V - Ay+V -Vx=V-Ay+Ax=0.
A. b3 (15) Zid 26, 2 (15) I3,

(21) NA(r) = —ppt(r), V- -A.=0.

UT, A ORT . Z28<.



FE0LHE,

(22) Ap(r) = —@,
€0
(23) NA(r) = —pept(r), V-A=0.

o(r) & A(r) D (T )V ST D) ZEmE, B UEOHER,
N7 v > (Poisson) TRER % i
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